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000000000 (1655) 002000 2(2)0 2=00000 2(0) =2,00000000
0 (16.50)0 f(z)=2000000000([f(2)] = [z] = (z,dx/dz) = (z,1) =z + (0,1) =
z+d 000000(16-1) 00000000 (1655 000000000000 ([f(z)] =
[7] = (v,dz/dx, (1/2))d?x/dz?, (1/3))d3x/d2®, - - -, (1/nY)d"x/da") = (x,1,0,---,0) 00
00(16-3) 0000000000000 z00000[z)00000DDOOO00O0O0O0OOY

[zo] DO (16.65) 000000000002z 00000000000000O00DO0O0O 200
goooooooooDo

0 (16.50)0 000000000 DO0OOOOOOODOO

00000000000 (1642)00000D0OO0OOOO

171 (p273) 0 (17.1) 000000000000 D00000D0O00000
00000000000000000000000000000000
0000000000000000007

00o0o0o0o0o0o0o0oDo0o0o0oo0o0D0 QoUoooUoooooooo
ooooo A0 RODOODOOD POODOOODOODOOOOOOOOOOODOODOO
OO0 000000000000O000O0O0O0O0OOOOCOOOO0O0OO0OOOOODOO
oooooo SooOooooo ¢, 000000000

Py P Py P
Y2 — 1 =21 k-ds+ k-ds— k~ds—/ k- ds
Q Py Q P

:%f(mv—em.ds:%”(f(mv.ds—e/s(vXA)-nds). (17-1)

0000 SO000D0000000 nO0O0 Stokes0OODODOODOOVXA=BOOO
0000000000000 00000000000000000 —(27e/h)¢,, DODODODO

0000000000000 0000000D00O0O0 (1531) 0000000000000
00000000000 000000O0O0O0OO (175 00000000000 (1750000
gooooooood
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172 (p279) Az* =1.1900007
CITFOO0000000000O00000O00O0UO0OOOOoUOOAz*=12000000
B(g*)=0000 ¢*0000000000O0OOOOOODOOO

173 (p.281) 0 17.80 K.(¢) 00000000C, =000 ¢*=00000
0o0oo0ooon?

01780 K.(¢*)0 C,=1mmO00 K,0OOOODOOODO

174 (p287)000 14000045%, 05nmO0000000O7

000 +5%00000000000000005nmm 00000000000

17.5 (p.297) O (17.32) O (1/4)(w] + wl){A(H; — H}) + Ao(H, + H})} O
0ooooooooooo?

wZEIwaDDDD0—>7rEIEIDEIEIEI0—>7rDDDDODWDDDDDDDDDDDD

17.6 (p-297) O (17.32) DD OO0 (1/4)(wiw, + wawi){Aa(H, — H,) +
AHj+H,)0000000000000000007

wgﬁiauwamﬂﬂﬂ0—)WDDDDDDO%WDDDDDDODWDDDDDDDDD

ood

17.7 (p.297)(p332) 0D 1710 000000000 —2{wwy(w? + w?) —
w,w, (w2 +w2)} 0000000000000000007

wwi 00000

17.8 (p.300) O (17.39) O (3000) O (1200) O ?

(3000) 000000000000

179 (p30l)OODOOOOODOO?

00000000000 (1740)00 300000000000000000O000O0O0O
0o0oooooooooooo 2000 40002000000 300000000000
(168) 0000000 mM=2, m=30000000000000000000100000
Ow, 00000000O0O0DOOCOOOOO0
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